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(C13 "integrate(sinh(a*®)*f(t-%),x,0,t) + b+*f(t) = tA2;

t

(D1) [ fit —z) sinh{ax) dz +bf(t) =
0

(c2y laplace(%,t,s);

_I_-'!-fi{_f (), s)

2 _ o2

— 3

(D2) BL(F (1) .1 5) -
(£33 linsolve([%]1, ["laplace(f(t), t, s)1);

s 2 gy 3
(03) [E{f{ﬁll:ﬁ:#}l— 25" —2a

T b5+ (a —ab) s
(C4) i1t(3[11, s, t);
(*) Is ablab—1) pesitive, negative, or zerc? pos;

9 cosh (@)

b at? 2

i) = — - - - -
f(t) atb? — 202 b+ a ab—1 o*b —202b+a
(C5) expand((x + y + Z)AB);

(D)

P 6y’ + 622" +16y7 2" + 302y 2t + 1527 2

+20y% 2 +60z” 2 + 6027y 2 + 027 2 + 1540 27
+60z 22+ 9027222 + 6020 y 22 + 1520 22 + 60 2
+30xy 24+ 602% P 2+ 6027 y? 2 + 302 y2 + 62° 2
+f + 6z + 1527y + 2027 o + 152 P + 6 2% gy + 2°

(CEY hl[i,j1:=1/001 +3 - 1);

(D& )

{C?) genmatrix(h,2,2);

(D7)
cey "diffig(x), x, 2) = "diff(g(x), %) - cos(x);
(D& )
9
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